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Q1

Q2
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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

If P + Q means that P is the sister of Q,
P+ Q) means that P is the mother of Q and
P x ) means that P is the brother of Q,
which of the following means A is the aunt of
D?

(A) A+ ExD
(B) F+A+ExD
(C) A+B+CxD

D) AxE+BxC+D

Select the option that is related to the third
term in the same way as the second term is

related to the firstterm.
Pressure : Pascal :: Current : 7

(A) Volte
(B) Joule
(C) Watt

D) Ampere

OiceRLIS

Ql

Q2

AR P+Q@ el & f5 P, Q&1 7B &,
P+Qr anf & f P,Q &1 i 8 aiR

PxQ@r o 8 f5 Qo wid 8 o
fFreferfee 3 ¥ fras anf & f5 A, D&
T / A/ T /T / e /iR &7

(A) A+ ExD
B) F+A+ExD
(C) A+B+CxD

(D) AxE+B=C=+D

a8 fawey 99 Wit iy = 9§ o9
HR Haftd 8, fore e gaw = uEd
e W HaftT

W:W::ﬁﬁﬁ—ﬂm:?

(A) dee

(B) S
(©) e

(D) W
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Read the given statement and conclusions
carefully and select which of the conclusions
logically follow(s) from the statement.

Statement:

The changing trends in Indian cinema has
witnessed big budget star powered movies
doing poor business and a lot of small budget
content driven movies eaming good business.

Conclusions:

(i) The low budget movies are huge hits
due to their story content irrespective
of the star cast.

The big budget movies are flop at box
office for casting big stars.

(i)

(A) Only conclusion (i) follows.

(B) Onlyconclusion (ii) follows.

(C) Both, conclusions (i) and (ii) follow.
(D) Neither conclusions (i) nor (ii) follow.

Village P is to the east of village Q.
Village R isto the north of village P.
Village S is to the west of village R.
Village S is towards which direction of

village P?

(A) South-east
(B) South-west
(C) North-west
(D) North-east

E Q3

Q4

few Mo Hoe AR Frepd @) | 1@
Ak Piftga =¥ &5 o9 w/9 feed

Wihes w9 § DU DI ATEWOT HAT
g/® €

B

WRAE e # 5ot ) 59 9 @)
Tl € w8 & 5 RERl (Fonen) @
TS guc P e @ FREaR $Y @
& ol fvu—avg smRa B awe ot
o3 fhel afgm FRER & W@ 8

Fremd:

() Toowi (weer)) @ 949 & yfE

e 71 S §U AT Hu W @

PR B qole B e red Hwa

T B

T faRt (Fener)) & 999 & RO

g3 quie @l fihed diaw 3iifha ™

ITHA B B

(A) daa Frepd (i) SRReT e 2

(B) ®aat frepd (i) srperon & 81

(C) =, fFrend (i) 3R (i) IERYT v
g

(D) = o Frepd (i) =1 & (ii) SFTETT Hal
g

(i)

Titq P,ifa Q& ud # & | 7ig R, @ P&
SR H &) i S, g R& ufdem F 2
g S, 7fg P& few e @ sl 87

(A) <fror — qd
(B) =féror — uf¥gw
(C) o= — uf¥=m
(D) SR - g
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Select the option that is related to figure (C)
in the same way as figure (B) is related to
figure (A).

A B,
& N

Al

3

<
bV
& O
o

-

i€l

(A)

(B)

(©)

(D)

od b lod loo
00 0O [IOH |00 °

Identify the odd word.

Square, Triangle, Rhombus, Sphere,
Parallelogram, Rectangle, Circle, Pentagon,
Hexagon

(A) Triangle

(B) Sphere

(C) Circle

(D) Hexagon

98 fFeu 9, Forae sl (C) & W
di® dwr € Wey B, Srar agfa (B) &

Il (A) @ a8

o] . [F5]..[09,,
w#Bjed |» 0
Al (B i

(A)

0o

®)

(©)

oo
OO0 IO& |00

od oo
O O

(D)

fawm w1eg &) UEEE B9 |

o, Pniw, wwamiw, e, R
(A) Frga
(B) T

(©) 79
(D) W
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The list given below contains figures which Q7

have something in common.

Cylinder, Cuboid, Sphere, Prism, Pyramid,
Cube

From the below given options, identify the

one that can be classified as part of this list.

57708516

(A) Rhombus

(B) Cone

(C) Square

(D) Parallelogram

Study the Venn diagram given below and Q8
identify which option is correct with reference

to the diagram.

Aeroplane

(A) Some birds are not acroplane.
(B) Allaeroplanes are birds.

(C) Allbirdscan fly.

(D) Some aeroplanes can fly.

#re <Y 7 g A O st wffoa
g ol @ owafraar (wmm) &)

a1, we, e, e, s, =

9 Ay 7y fawedt 4 @, 9w Res A
e DY O 59 gE B 9 @ w9 H
aifig fasan i wear 3

(A) NS
(B) g

(©) @it

(D) WY A

Al o v 99 e @y aeags &9 Al
vEar & @ a1 faee oma @ e i
el B

Sak

argai-

(A) w5 Wl arEE T8 &)
B) it argar U &)
(C) Wi well 92 W& &1

(D) FHB TG I " ¢ |
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Q9 Twopositionsofadiceareshownbelow.If Q9 U@ Ut &l a1 Referat o gurfdhy wd &)

number 6 is exactly opposite to number 3, afe wWe 6, Her 3@ O fagda 8, o
then which number is exactly opposite to e 2@ e Ruda aW @ wen
number 27 Brf1?

(A 1 (A) 1
B) 4 (B) 4
© 5 (©) 5
@) 6 D) 6

Q10 Inthe figure depicted below, if the pentagon § Q10 W suRl 7E sy ¥ afy dwme B
is rotated anti-clockwise 270° once and the U g e 270° gamET awn # aiv
triangle is rotated clockwise 270° twice what Prgw @1 <1 av =f@omEd 270° g
will be the final figure ? ST &, o aivenfie anpfa @i

&

@

(A) (A)

(B) (B)
} (©)

(©)

) @)

BB ®
SRSROR,
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Select the option that is related to the third
word in the same way as the second word is
related to the first word.

Kitchen : Refrigerator :: Bathroom : 7
(A) Television

(B) Geyser

(C) Microwave Oven

(D) Sewing Machine

In a certain coded language, if BRAKES is
written as TAGPNX and CLUTCH is
written as IBEJWR, then how will be the
word WHEELS written as in that language?
(A) TYMGFD

(B) TVNEHB

(C) XRIJHB

(D) TYNFHB

In a certain coded language, ifRAMESH is
written as TBNFTJ and MITALI is written
as NJVBNJ, then how will be the word
RANBIR written as in that language?

(A) SBOCJS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

Deepika is the mother-in-law of Priyanka
whose husband is the father-in-law of the wife
of Ranbir. Salman is the only son of the
husband of Deepika while Katrina is the only
daughter of the mother of Ranbir. How is
Salman related to Katrina?

(A) Husband

(B) Brother

(C) Father

(D) Grandfather

5988516

Q11 =% fawey g, Rrasr Ty o= & Ay

1% a6 @ Wy B, 9T g R @
B W B W 2|

g : wiad = EEN  ?
(A) Sefifaor

(B) 9w So—wra (o)
(C) WIEhiad e

(D) Rremé s

e Fifga 3 W #, aft BRAKES
& TAGPNX & w9 # foran wman 2 s
CLUTCH @ IBEJWR @& w97 # foran
I 8, O 91es WHEELS &1 f5w &y 3
forar smyar?

(A) TVMGFD

(B) TVNEHB

(C) XRJIHB

(D) TVNFHB

fai Ff¥era o W # afs RAMESH
@I TBNFT] & w9 # ferar wmen £ aiw
MITALI %1 NJVBNI @& &9 % férar wimar
. T 78 RANBIR &1 fre wu § forar
FIT?

(A) SBOCIS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

Liftem, e 2w & fors ufl, TR
B U & wgR & | o, e B
ufy @1 swHelar de1 & GEP ded,
TR @1 H B gFHell 91 8 | HAA
® hedHT § T gag 87

(A) ufa

(B) g

(C) fomm

(D) =T
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Read the given statements and conclusions
carefully. Assuming that the information given
in the statements is true, even il it appears to
be at variance with commonly known facts,
decide which of the given conclusions

logically follow(s) from the statements.

Statements:

1. Some lionsare cats.

2. Allcats are tigers.

3. Notigerisanelephant.
4. Allelephants are rabbits.

Conclusions:

[) Sometigersare lions.

II) Moelephant isa lion.

II) Some cats are elephants.
IV) Some tigers are cats.

(A) Onlyconclusion Il follows.

(B) Only conclusions | and 11 follow.
(C) Omly conclusions Il and 1V follow.
(D) Only conclusions | and 1V follow.

Select the option that can replace the
question mark (7) in the following series.

SUPER, PSRUE, RPESU, ERUPS, 7,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP

Q15 Ry v T v Frepel &) e 9 9d |

Q16

a8 A 89 6 deEl § 9 8 e
3 I o B B - 1 1 M 1 s 1
I & 947 7§, g% ol o 6 Ru e
sl 3 9§ $19 W /@ Fed aifde s
H Tl BT IO FEAT & /T B |

S
o i, fafeomr #)
wift fafeeri am &)
g W amg, s T 8
it gl @ #)

B W k=

BB

) ®o 4y, e 8|

1y @12 9 wel, Rig 96 )
nmy o fafeen, eeht &)
IV) &5 am, fafeaaf &

(A) @ad sy [ Jgaxor Fa 81

(B) dad Prasd [ el 11 S8 &Y
gl

(C) @ae FAspd 113w 1V SRy &
gl

(D) Faa fsed [ 3R IV 3gE &
g1

a8 fawey g ot A @ 7 gaen A
yefaes (7) ® wftenfa & aear &)

SUPER, PSRUE, RPESU, ERUPS, 7,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP
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Q18
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Select the number that can replace the
question mark (?) in the following series.

51,44, 49, 42, 47, 40, 45, 38,
(A) 31
(B) 33
(C) 43
(D) 45

The ages of two friends Ramesh and Rajesh
are in the ratioof 4 ; 3,

Which of the below pieces of information is

additionally required to answer what the

average age of Ramesh and Rajesh is?

(A) Ramesh is 10 years older than Radha
who is the younger sister of Rajesh.

(B) The age difference between Ramesh’s
father and Rajesh’s mother is 8 years.

(C) 6yearsago, the ratio of the ages of
Ramesh and Rajeshwas 3 : 2.

(D) Rameshwas 12 years old when Rajesh
was in senior KG in his school.

Five friends A, B, C, D and [ are seated ina
row and are watching a movie. A and D are
seated at the extreme ends while B is seated
exactly in the middle.

What additional information is required to

answer who is seated nextto A7

(A) B isseated immediately nextto both C
and E.

(B) Cis not seated next to D,

(C) Cisseated nexttoB.

(D) B isseated nexttoE.

SS0ELLS

L

10

Q17

Q18

Q19

T8 W g ot e T y@ar §
yefaed (7) & wiewenfua & gwdl 2

51,44, 49, 42,47, 40, 45, 38,
(A) 31
(B) 33
(C) 43
(D) 45

g1 o aie wrore @ g 43
3 i B

i ) 7 B A g6 9 @

ame 24 & oy afeRem vy 9 smawas

2 & w99 oiR wre & airae gy

27

(A) THE, N A0 T g9 & A worw
@) BIel 984 8 |

(B) v & fyan i vt & 0 @ 9
IR T W g ad B |

(C) 6au yd, v 3R worwr ait g @
AT 32 97

(D) w19 ote o fAenaa o @i
ah.ofl. 3 e, @ e 12 ad @ an)

urd fA= A, B, C, D3R E v ufde & &2
B i fven <@ W &1 A afiv D siftm
BN 9Y 48 & wafds B e drg o dar &7

I8 G &9 & forn fvy afRes e
D AaEEdl g, 5 AS T i 9 g
&

(A) B,C a3t Eaw & &% ara # der

2

(B) C,D @ ame # 7éf dar1 2|
(C) C,B® a7d # @ar1 |
(D) B,E® @l % da1 &
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Q20 A isthe brother of B and sonof Cand D. E Q20 ABF W 2aiv CalR D& deT & E,

is the hushand of B and father of F. B& ufti ok Fa faen &
What additional information is required to U8 I o4 & fou @ @ afafew
answer how C isrelated to A? WIS B AEvEEd 8, B CH AD
(A) Bisthe only daughter of C and D. Wl T Hay &7 '
(B) Disthe maternal grandfather of F, (A) B,C 3R D gaeiri a1 &1
(C) Fisthe only grandson of C. (B) D,F& 91911 2 |
(D) AisthesonofC. (C) F,C &1 gdeirar qiar &1

(D) A, Ca&1 der #|

Q21 Inacertain coded language, INCOME is Q21 uw ff¥ga @ wiwr % INCOME &t

written as HPENOG. How will be SAVING HPENOG & w9 # fomn wmar )
written as in the same language? SAVING &1 3l @e Wi # famg w7 §
(A) RCVHPG ferar wmgm?
(B) RXCHIP (A) RCVHPG
(C) RCXHPI (B) RXCHIP
(D) RCXHPG (C) RCXHPI

(D) RCXHPG

Q22 Ifinacoded language MIND is written as Q22 afe Uw e AW i MIND &1 IMDN &

g

IMDN, how will be GAME writtenasin 2 w4 A fer@n orar 8, a1 GAME &1 9w
the same language? : e qmar H fe w9 9 e wmom?
(A) GEMA (A) GEMA

(B) MEGA (B) MEGA

(C) AGEM (C) AGEM

(D) EGAM (D) EGAM

LM-B 1 SERIES-B-H




Q23

Q24

Q25

In the given series, one number is wrong.

Select the wrong number.

18, 22, 44, 48, 52, 100, 200
(A) 48
(B) 52
(©) 100
(D) 200

T

Select the number that will come next in the

Gt

&

following series.

3,4, 13,38, 87, 168, 7
(A) 199
(B) 289
(C) 203
D) 259

If XAY implies X7 +¥?

XBY implies X7— ¥?

XCY implies (X + ¥)?

XDY implies (X — Y ) then,
Which of the following is TRUE?

(A) (7C3)—(6D6)=—100
(B) (3C2)D(5B5)=624
(C) (3A2)B(5C4)=88
(D) 216D256=-1600

12

Q23

Q24

Q25

QN TE ST H, U HEn Tad & 9%
T WA g |

18, 22, 44, 48, 52, 100, 200
(A) 48
(B) 52
(C) 100
(D) 200

a8 W gt o Prafaed saen
It 3oy |

3,4, 13,38, 87, 168, ?
(A) 199
(B) 289
(©) 203
(D) 259

afd XAY &7 awead X2 +y? @
XBY @1 orqd X7 yi#
XCY®ramad (X + ¥Y)° &
XDY &1 aread (X - ¥)' R,

a1 Fafefea 4 9 o v &7

(A) (7C3)—(6D6) =~100
(B) (3C2)D(5B5)=624
(C) (3A2)B(5C4)=88
(D) 216D256=—1600
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Q26

Q27

Q28

Q29

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Which state produced the largest amount of
rubber in India in the year 2017-18?

(A) Kerala

(B) Andhra Pradesh

(C) Odisha

(D) Karnataka

Which of the following share is contributed
by the Agriculture and allied sector in the
India’s gross domestic products, 20197
(A) 1439%

(B) 29.73%

(C) 15.87%

(D) 31.46%

What is the child sex ratio of Uttar Pradesh
as per Census report, 20117

(A) 898

(B) 912

(C) 916

(D) 902

Which of following valleys is NOT situated
in the Himalayan Mountains?

(A) Karewas

(B) Bhagirathi

(C) Kathmandu

(D) Araku

LM-B

f
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Q26

Q27

Q28

Q29

2017-18 # fy=ferfae o & fsm wow A
A ¥ wad e vaw &1 gonneA e
(A) @

(B) a1 wadm

(C) snfem

(D) Tiles

WRA & §PHel H¥e, I8, 20197 F
AR wag & gW g fdo wfiorer W
F1 ANTSH WIS g 87

(A) 14.39%

(B) 29.73%

(C) 15.87%

(D) 31.46%

o R 2011 & AR, ST Y29
¥ g feimuE @ 87

(A) 898

(B) 912

(C) 916

(D) 902

frfafa § 4 o @ od), Ruwee
uda sj@an o fea TE 87

(A) Tvard

(B) el

(C) TIoAIg,
(D) 3mTEy
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Q30

Q31

Q32
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Who was the first woman Governor of a state
in Independent Indja?

(A) Sharda Mukherjee

(B) Vijayalakshmi Pandit

(C) MargaretAlwa

(D) Sarojini Naidu

According to IMD World Competitiveness
Rankings, 2019, Indiaranked _ in
world’s most competitive economy,

(A) 14"

(B) 24"

(C) 434

D) 51*

Bombay Stock Exchange appointed
as its first independent woman

director in May 2019,

(A) Jayshree Vyas

(B) Jayati Ghosh

(C) Rohini Pandey

(D) DevakiJain

ST 45553
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Q30

Q31

Q32

A e A e e 3 ues Al
T B off?

(A) TINET HaE

(B) fawuash ufdg

(C) ArReE ape

(D) wRGHT A8,

31w E (IMD) fareg wftreert ¥ 2019
& IR, fava & waife s
sefargen ) WA Howwa 4
T U fam 2

(A) 147

(B) 24"

(C) 437

(D) 517

ag MR AN A A7 2019 %
DI A wer o Afken Fréwe @ v
H e foman
(A) wg4f @
(B) wIfT =i
(C) fedh aig
(D) g oA
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Q33  Which of the following keyboard shortcuts Q33 Fr=fafEs 4@ @@ @ ool ved ag-y
displays the Start menu in the Windows (@ @18 wiewe) bera yarda wonel
operaling system? (sitgafen foew) # wé #q @1 a9
(A) Ctrl+Z 8’

(B) Alt+ Spacebar (A) Crl+2Z
{C) Ctrl+Esc (B) Alt+ Spacebar
(D) Alt+Enter (C) Ctrl+Esc

(D) Alt+Enter

Q34 Whoamong the followingisknownasthe Q34 Fr=ifeiftas % 9 fom @fem =1 wagfen
‘father of computing'? H OHE B w9 I T e 87
(A) Charles Babbage (A) T dda
(B) Tim Bemers Lee (B) fen aidd &

(C) Philip Don Estridge (C) fbfem s uigw
(D) James Gosling (D) w7 TiRer=T

Q35 Windows 10 was first released as a preview Q35 faiEm 10 % veel & yaladisa & WO #
on which of the following days? frraferfian 3 9 fem s o e aran
(A) 1January 2013 o7?

(B) 12July2014 (A) 1 9Fad 2013
(C) 1 October 2014 (B) 12 9 2014
(D) 12 December 2015 (C) | d=Ey 2014
(D) 12 fewaw 2015
LM-B 15 SERIES-B-H
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Q36

Q37

Q38

Q39

LM-B

Every year, in which of the following districts
of Uttar Pradesh is Bateshwar Mela
organised?

(A) Kanpur

(B) Varanasi

(C) Mathura

(D) Agra

What is the suitable time of sowing the
indigenous variety of cotton (kapas) in Agra
district of Uttar Pradesh?

(A) First fortnight of April

B) Mid-April

(C) Firstfortnight of May

(D) Mid-May

As per Census 2011, what is the population
growth percentage of Uttar Pradesh?

(A) 20.21%

(B) 20.23%

(C) 2030%

(D) 2032%

In which of the following districts of Uttar
Pradesh is the Union Government's opium
factory located?

(A) Varanasi

(B) Ghazipur

(C) Ballia

(D) Kanpur

16

Q36 uw wew & F=fafas & 9 fba fg

Q37

Q38

Q39

A 9l advan e s far s
#7

(A) BTG

(B) ammR

(C) #epar

(D) I

SR WR¥ @ A1 R W v (@)
@ e v 9 ga @ suga W
FreiferfRaa % & @ @ 82

(A) U T YR YT

(B) et @1 men

(C) ¥ &1 YEeil Twars]

(D) Wg @1 W

Tl 2011 B FEVET F FTER, TN
yaw ) S o gfe uftvea @ @7
(A) 2021%
(B) 20.23%
(C) 20.30%
(D) 2032%

O Yo & =il 4 @ fw o
H BE WYER @ IHE B B e
8?7

(A) TRIOTH!

(B) oy

(C) aferm

(D) &R
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Q40

Q41

Q42

In which of the following cities of Uttar
Pradesh is Modern Coach Factory, a rail
coach manufacturing unit of the Indian
Railways, located?

(A) Rachareli

(B) Mughalsarai

(C) Prayagraj (Allahabad )

(D) Lucknow

Kashi is a famous Indian pilgrimage centre
situated in Uttar Pradesh. It is located on
thebanksofthe _ river.
(A) Gomti

(B) Saryu

(C) Yamuna

(D) Ganga

In which of the following cities of Uttar
Pradesh is the Government College of Arts
and Crafts located?

(A) Lucknow

(B) Kanpur

(C) Varanasi

(D) Gorakhpur

LM-B
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Q40

o yew @ Frefafaa 4 @ o mee i
A ¥ @1 ®ra i o, amgfe
Yol ®ra hag) (e o bad) Rem 22
(A) TEave

(B) ereRTd

(C) FarRml (FeiTerars)

(D) «@TH

TR Wey A e Sl U witig WRdg
el w81 g8 Frfataa 4 9 e a4
& e W Rua 87

(A) TR

(B) ¥¥Y

(C) 330
(D) 7

T gew @ Preafafaa 4 ) fw weed
o e v R seigare (radie
Pierst 3w ey ¢ wvew) R &7
(A) FETH
(B) TR
(C) T
(D) TEYY
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Q43

Q45

Lucknow in Uttar Pradesh is famous for
which of the following handloom production
centres?

(A) Khari printing

(B) Saris

(C) Chikanwork

(D) Brocade fabric

Firozabad, a city in Uttar Pradesh, is famous
for which of the following industries?

(A) Saris

(B) Cement

(C) Glass

(D) Locks

Who among the following did NOT provide
assistance to the British in suppressing the
revoltof 18577

{A) Scindiaof Gwalior

(B) Begum Hazrat Mahal of Awadh

(C) Nizam of Hyderabad

(D) Sikander Begum of Bhopal

LM-B
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Q43

Qa4

2

IR e H q@as ey Frefafa
A fra guavr (Esep) Soures dal &
forg wftrg 22

(A) @ fufen

(B) st

(C) Fr@= sréma

(D) Wl & BT

T Yoy & e e, et
4 9 ey g & foy ufag &7

(A) wrs!

(B) wiife

(C) &

(D) T

frefafiaa & 4 s 18579 fage &)
@7

(A) Ta@ferr & Riferan

(B) 3@y & 49§ HEA

(C) tewmEe & fam

(D) ¥raret @ Rrwer W
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Q47

Q49

The decision to effect the Partition of Bengal
was announced by the Government of British
India on

(A) 7August 1905

(B) 19July 1905

(C) 16 October 1905

(D) 1 September 1905

Who was the leader of the Ghadar
Movement?

(A) HarDayal

(B) Bhagat Singh

(C) Madam Cama

(D) Shyamji Krishna Verma

Who started the Mahad Satyagraha in
Maharashtra in 19277

(A) Mahatma Gandhi

(B) Sardar Vallabhbhai Patel

(C) Dr.BR Ambedkar

(D) Jyotiba Phule

Which of the following Acts was based on
the Montagu-Chelmsford Report?

(A) GovernmentofIndiaAct, 1892

(B) Governmentof India Act, 1909

(C) Government of India Act, 1919

(D) Government of India Act, 1935
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Q46

Q47

Q48

GESERT

Q49

fafewr wra wvaR 7 e & e @Y
o], % @ fofa @ amen w8 @ d9e
(A) 7 37 1905

(B) 19 GeE 1905
(C) 16 ITET 1905
(D) | Feeay 1905

AT ARTAT B AT B o7
(A) B TaTe

B) ¥ i

(C) #=n &

(D) Tl ey aat

1927 #, wenng # "ETe WenrE fhea
ey faar ar?

(A) weTe e

(B) YNGR dooivaTg uee

(C) &1 41 oW, sz

(D) wHferar et

frafafaa & @ o9 W sfafes
Higrg—aramre Raed v smnfa
(A) WG "R sifefam, 1892

(B) W waN g, 1909

(C) \ma ¥R e, 1919

(D) ARe wehR A, 1935
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Q50

Q51

Q52

Q53
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When did the Muslim League join the interim
government under the leadership of
Jawaharlal Nehru?

(A) 2 September 1946

(B) 14 September 1946

(C) 24 October 1946

(D) 14 November 1946

Who was the chairman of Boundary
Commission for India and Pakistan which
was announced by Lord Mountbatten in
194772

(A) Lord Curzon

(B) Lord Wavell

(C) ClementAttlee

(D) Cyril Radcliffe

The latitudinal extent of Indiaisfrom
north.

(A) 8°2°;37°4°

(B) 8°4";37°¢’

(C) 8°7":37°9

(D) 8°3':37°5’

north to

Which one of the following rivers does NOT
fall in the Gulf of Khambhat?

(A) Mahi

(B) Sabarmati

(C) Koyna

(D) Tapi

GE5E6I95
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Q50 THEEBYATA 6% & g H R o,

JaRA war H Ha witafoa g5 47
(A) 2 Fodae 1946
(B) |4 fodax 1946

(C) 24 y=gEv 1946
(D) 14 7a4% 1946

1947 % &€ Ardeden g St wwa
IR ufrwE @ fog @ smEm @
el B U7

(A) € ui

CEGIEEER

(C) el Yee!

(D) FiRer Yefeas

Q52 WA &1 e e IR Y

TR T 2|
(A) 8°2°.37°4
(B) 8°47:37°6
(C) 8T .37
(D) 8°3",37°§°

ffefaa # @ @9 @ 5 @ @)
ard A A feh 27

(A) "é

(B) wmavEil

(C) T

(D) amir
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Q54

Q55

Q36

h Q57

Which is the highest point of the Meghalaya
Plateau?

(A) Khasi-Jaintia Hills

(B) GaroHills

(C) Mikir Hills

(D) Shillong Peak

As per census report of 2011, which of the
following states does NOT have tribal
population?

(A) Haryana

(B) Goa

(C) Gujarat

(D) Bihar

The Bhutia tribe, widely known for their
traditional grandeur, art and cuisine are found
in state.

(A) Sikkim

(B) Nagaland

(C) Arunachal Pradesh

(D) Tripura

Which one of the following states has the
highest population density according to the
2011 Census report?

(A) West Bengal

(B) Kerala

(C) Uttar Pradesh

(D) Bihar

LM-B
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Q54

Q355

Q56

Q57

AU YoR @ wad dd 91 o1 @
27

(A) @i et

(B) TR Efe

(C) ff werfet

(D) e o

2011 @ wor RO & SER,
freifefaa & 9 5w w9 9 oo
@ A8 87

(A) sfamom #

(B) imar #

(C) Toww H

(D) faEr #

wfeay wronte, i 39 gRuReE e,
wenl AR -3l @ forg @ w9 A
ot el 8, few wow # u o 87
(A) Tafesm 4

(B) <Ml

(C) Irvvmad vaw i

() Frgar

2011 @ S RO @ argER,
Frafafaa # 4 fow w=a A Sewen
Hed waifaes 27

(A) uf¥=m |

(B) @d

(C) W% we¥

(D) faem
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Q59

Q60
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Which region in Andhra Pradesh is actively
engaged in the production of petroleumn?
(A) MahanadiBasin

(B) Krishna Godavari Basin

(C) Narmada Basin

(D) Cauvery Basin

Mount Elbrus, one of the highest peaks in
Europe, issituatedin

(A) Germany

(B) Switzerland

(C) Russia

(D) Ukraine

Which article of the Constitution of India
deals with ‘equality before law’?

(A) 14

B) 13

©) 17

(D) 26

ST 1558
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Q58 sy wew o1 FrafaRe % @ @ W é

Q59

Q60

wftha w9 A Wi & Swues @ o
v

(A) #ErE affE

(B) o MerEd afiE

(C) e afm

(D) HAY Al

R & Feaed vda Rrasi 4 9 ve AT
UoHd @wl e 87

(A) G

B) Raesrers

(C) &8

(D) geba

g wigu & Freafafaa § @ @
w1 s s wwar o am @
| T @ e 87

(A) 14

(B) 13

(©) 17

(D) 26
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Q61

Q62

Provisions regarding the promotion of
international peace and security are outlined
asapartof  ofthe Constitution of
India.

(A) Fundamental Rights

(B) Directive Principles of State Policy
(C) Fundamental Duties

(D) The States

Who is the appointing authority of the
Governor of a State in India?

(A) Prime Minister of India

(B) Chief Minister of the concerned state
(C) The President of India

(D) The Central Cabinet headed by the

Prime Minister of India

Who was appointed as the National Security
Advisorof Indiaon 31 May 20197

(A) MK Narayanan

(B) Brajesh Mishra

(C) Ajit Doval

(D) JN Dixit

LM-B
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Q61

Q62

Q63

SieeTsiTg iy iR e # g oA 9
Haftra gm@urE, Awda wfus @
f=iferfaan o 9 fohad va 99T & w9 H
Sfeafiaa &7

(A) #Hifors arferem

(B) = @ Hify frdes Regia

(C) fers sl

(D) rsEl

A | [ Iy @ eaua &1 Fygfea
yftrsr) frsfafas 4 | @59 & g?
(A) WA & WA

(B) WHaftd g & HewAl

(C) WRa & wgufa

(D) WG & WETHA] B e H darg

31 7 2019 B WRG B W YEN
woeeR & w9 A 5 Pgaa B
oqr?

(A) TH®, AR

(B) #@uier s

(C) 3rita SrTe

(D) g, diféver
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Q64

Q65

Which of the following statements is

INCORRECT?

(A) The procedure for impeachment ofthe
President has been described in Article
61 of the Constitution of India.

(B) Impeachment motion can be presented
in any house of the Parliament.

(C) Impeachment resolution can be passed
by a majority ofnot less than two-thirds
of the total membership of the House.

(D) The President could be impeached for
violation of national security.

Who was appointed as the Finance Minister
of Indiaon 31 May 2019?

(A) ArunJaitley

(B) PiyushGoyal

{C) Nirmala Sitharaman

(D) Rajnath Singh

According to a G-20 surveillance note,
prepared by IMF in June 2019, India’s
economy is expectedtogrow _ in
2019.

(A) 6.3%

(B) 7.3%

(C) 83%

(D) 9.3%

Q64

Q65

Q66

Fr=iferfaa & 9 ®19 W wws Tom 27

(A) 9ed & Wfaw™ & s 61 4
e & wEfanr & ufisar @
ol famar T &)
(B) WETWATT w&id weg & fed ff
weA ¥ yegd fFar o waar &
(C) weihvarT v, W & Tl Wewa
@ a-feR 4 e ggma @ wila
@ w1 | )

(D) TR TR I GeA D I B
ferg wmfirinT geman @ wear 24

31 78 2019 @ 9T & O 7 & &g 9
frferfeaa ¥ @ fsa Fgae e mn
or?

(A) 3BT oiee!

(B) Ry el

(C) fotem Hremomm

(D) wrorTre e

O 2019 % 3E.TAUE. (IMF) B8R daR
W-20 PR fewdll & arar, 20194
HIeT I apefegaven g faso wfore sg+
ot I 87

(A) 6.3%

(B) 7.3%

(C) 8.3%

(D) 9.3%

SERIES-B-H
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Q68

Q69

Mahila Shakti Kendra (MSK) under the
Umbrella Sehen'lle Pradhan Mantri Mahila
Shashaktikaran Yojana (PMMSY) has been
approved for implementationduring .
(A) 2016-17
(B) 2018-19
(C) 2017-18
(D) 2015-16

Mahatma Gandhi wasagainst _ of
India.

(A) slowindustrialisation

(B) rapid industrialisation

(C) Britishmode of industrialisation

(D) American mode of industrialisation

Who among the following was sworn in as
Chief Minister of Arunachal Pradesh on 30"
May 20197

(A) Jarbom Gamlin

(B) KalikhoPul

(C) PemaKhandu

(D) Nabam Tuki

LM-B
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25

el afgen wefdaaver g
(PMMSY) & aimifa =fder wfém @z
(MSK) @1 fr=forfiae # @ frw sl @
3 sriaed & foe arEifea fear
T 87

(A) 2016-17

(B) 2018-19

(C) 2017-18

(D) 2015-16

HETH TR IRA B B fawg o)
(A) #g afreframer

(B) < aftenfirasaor

(C) afrenfirafievor o fafew gagf
(D) sieifrdfieor & PR gefy

fefafaa % | fwm 30 58 2019 @t
IEUTEA VW B A & w0 § Iy
B H?

(A) wram wfers

(B) wferar qa

(C) U @iy,

(D) 7w g
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Q70 Which of the following cyclones badly

Q71

Q72

LM-B

affected the coastal districts of Odisha in
May 20197

(A) Cyclone Sani

(B) Cyclone Fani

(C) Cyclone Tani

(D) Cyclone Kali

Which one of the following teams won the
Indian Premier League (IPL) trophy, 20197
(A) Kings XI Punjab

(B) Chennai Super Kings

(C) Sunrisers Hyderabad

(D) Mumbai Indians

In May 2019, the Central Government
created a new ministry by merging the
Ministry of Water Resources, River
Development and Ganga Rejuvenation and
the Ministry of Drinking Water and
Sanitation. What is the name of the new
ministry that has been formed as a result of
the merger?

(A) Ministry of Jeevan Shakti

(B) Ministry of Swachcha Ganga

(C) Ministry of Jal-Nadi Vikas

(D) Ministry of Jal Shakti

5552550
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Q70

Q71

Q72

w3 2019 ¥, Frefafaa 3 & e awam
3 aifem & odm ol &1 g0 awE
yuifa fsan?

(A) Fevara H=

(B) TeawT Bl

(C) =ehard al

(D) =T Hreil

gfemm @i & (IPL) gl 2019
Frefefae # | fw d A oiRn?

(A) & geta goie

(B) ¥+T¢ YW fpra

(C) IFRTgoTd BEvare

(D) Hag gfeaw

g 2019 %, BF WEHR A T WA, 74
fawma v T wEwe AEEY &R
e AR Wl AT $ Aoy awe
UE A91 HATET aFan| fa|y
ROTAERY S 41 gy 491 T 8
IS A a7 87

(A) wiraq oifdsy w=e

(B) @B Tl HATY

(C) wie—a) s w=re

(D) o ofd A=
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Q74

Q75

Which country conferred its highest honor,
the “Nishan lzzudeen’ on Indian Prime
Minister Narendra Modi in June 20197

(A) SriLanka

(B) Maldives

(C) Nepal

(D) Israel

15 a famous 49-year-old veteran
Nepali Sherpa who scaled Mount Everest for
the 23" time in May 2019,
(A) Tenzing Sherpa
(B) KamiRita
(C) AppaSherpa
(D) Phurba Tashi

India is estimated to have produced
million tonnes of food grains (rice and wheat)
during 2018-19.

(A) 18337

(B) 383.37

(C) 28337

(D) 483.37

LM-B
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Q73

Q74

Q75

O 2019 #, WA WA A HIE) @
Frefafan # & 5w 29 3 s wate
=, e segdm & et
or?

(A) =fiedr

(B) westa

(C) #ure

(D) TR

__ Uwuitg 499ty Sefgd Ao
T § e wE 2019 % 23% R Ae
TR B °ITE g B A |

(A) TfT e

(B) @t ¥

(C) arwar grar

(D) war ary

2018-19 & ¥RM ANT ERT B e
faferam &9 st (e afR AF) @
Seare fag S @ s &7

(A) 183.37

(B) 383.37

(C) 283.37

(D) 483.37
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SECTION-3| GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

A and B together can complete a task in 9
days, whereas B and C together can
complete it in 15 days. All three can
complete the task in 6 days. In how many
days will A and C together complete the
task?

|
(A) 6
(B) 6

4
(€) ﬁ;

P,
©) 63

Two pipes, A and B, can fill acistern in 36
min and 435 min respectively. Both the pipes
are opened together in the cistern. Afler how
much time should A be closed so that the
tank is full in 25 min?

(A) 13min

(B) 14min

(C) 15min

(D) 16min

ifa*+ b =a’ thena®+ b isequal to :
(A) O

(B) 1

(C) a@+¥

(D) @b+ ab?
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Q76

Q77

Q78

A 3l B e ve & 9 fet # ool e
HEd € wEfE B AR C Mo e 15
&t # ol @ " &1 A g Ee
e @ 6 fa=it 3 quf & wad §) A
AR C e " feeey g8 o9 s
fa=t # gof w¥e?

1
(A) 65
B) 6

o) 62
(©) 67

62
(D) 63

g1 ugy AR BUs Fe (favwed) @t
A7 36 e 3R 45 fBFe 9 W waa
&1 37 <1 gyl @ @68 (Red) 4 @
ARy WeT O 8 | A B e Wi 9
g¢ foan e wfde & @e (Rawe) 25
e ¥ ww we?

(A) 13 fiFe

(B) 14 fime

(C) 15 fime

(D) 16 fime

IR+ b= B A &+ b T
A BITY

(A) 0

(B) 1

(C) @+ b

(D) @b+ ab?
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Q79

Q80

Q81

082

Which of the following organisms is a
colonial fonn?

(A) Amocba

(B) Chlamydomonas

(C) Polysiphonia

(D) Volvox

Identily the INCORRECT statement about

class insecta from the options given below.

(A) Ithasthree pairs of legs.

(B) Ithas joined legs.

(C) It has one pair of legs in each body
segment.

(D) Ithas legs present in thoracic segments.

Ultra filtration and reabsorption process
takes place during the:

(A) circulation ofblood in vessels

(B) transport of gases through blood

(C) excretion and urine formation

(D) exchange of gases during respiration

How much percentage of fresh water is
available on earth?

(A) 30%

(B) 03%

(C) 0.3%

(D) 0.17%

LM-B
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Q79 Frafefaa 4@ o ol e S

Q80

Q81

Q82

& ey i e 87
(A) 3

(B) TFEMESHAR
(C) uicthifmpifan

(D) dicraird

A fag Ty Rredt @ @ g (@)

& "l ¥ e YA @ gEaE &)

(A) 39 < S R ge i €

(B) & X amgw # S &6 7

(C) 9@ weid yiR-ws i ys i
e g &)

(D) 7% agfa wef # v e
w2

afr Fredes afi gAcaraeiaor withan fva

SR B 27

(A) TfEmRi § v wan & A

(B) v & wreaw 9 i @ uflass @
AR

(C) woem 3R a3 fufv & e

(D) W@ & SR T & ARF-UErH
& SR

ged] ux famert wicrem drmon oiel SuerE
1,

(A) 30%

(B) 03%

(€) 0.3%

(D) 0.17%
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Q83

Q84

Q85

Q86

Q87

Which of the following does NOT Q83
contribute to the pollution in water body?

(A) Heavymetal

(B) Ozone

(C) Microplastics

(D) Pesticide

Which of the following is NOT a greenhouse QB84
gas?

(A) Water vapour

(B) Nitrous oxide

(C) Ozone

(D) Carbon monoxide

Methyl orange indicator changes its colour Q85
at which pH value range?

(A) 3.1-44

(B) 1.0-3.1

(C) 44-58

(D) 5.8-7.0

Pharma vision 2020 is a programme to EQEG
develop India as leader in: &
(A) Drugmanufacturing
(B) Pharmaceutical research
(C) Providing human resource in
pharmaceuticals
(D) Drugdiscovery

In which year Capt. Rakesh Sharma travelled Q87
to space in a Soviet space programme?

(A) 1981

(B) 1982

(©) 1983

(D) 1984

30 .

fafefaa 3 | w1, weim Fom o
BIFATe WEHY % AFTET UG e Pheal?
(A) ¥ arg

(B) 3G

(C) wEmIEReT

(D) FIeAEF

freifeifae § 9 =1 w fegea 49
el &7

(A) it @y

(B) "rggH iFaTEs

(C) Wi

(D) @ AFRTTTES

frarga ot Waas ke pH W= ¥
X IYAT T qGerd &7

(A) 3.1-44

(B) 1.0-3.1

(C) 44-58

(D) 5.8-7.0

ol RS 2020 wRe @ fEw sl
w9 ¥ Refm &9 &1 ve Fdeg 87
(A) airsfer fmfor

(B) irsfer srgeEr

(C) ohufert % wra wHmE e &
(D) afrefey ) @

T sy W A a9l 3 ve wiftad
it srdwn % afafRer & g & o7
(A) 1981
(B) 1982
(C) 1983
(D) 1984
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Q89

Q90

Q91

Q92

Q93

The Goiter disease is caused due to the
hypofunction of:

(A) thyroid

(B) parathyroid

(C) thymus

(D) pituitary

The working principle of a transformer is:
(A) Self-induction

(B) Mutual induction

{C) Electromagnetic induction

(D) Lorentz Law

The wave nature of electrons was first
experimentally established by:

(A) Photoelectric effect

(B) Double slitexperiment

(C) Davisson and Germer experiment
(D) Compton effect

Which is the causal organism of small pox?
(A) Rubellavirus

(B) Variolavirus

(C) Ebolavirus

(D) Cytomegalo virus

The peptide bond is formed between:
(A) Amino group and hydroxyl group
(B) Two hydroxyl groups

(C) Amino group and carboxyl group
(D) Amino group and carbonyl group

Sickle cell anemia is caused due to the:
(A) deficiency of folic acid

(B) Abnormal levels of haesmoglobin
(C) deficiency of iron

(D) production of less number of RBCs

LM-B
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BESTIESS
o
WO
ta
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uyl (Migex) W fawel aeaiegar &
IO BT 87

(A) orag Ul (arigs) @

(B) 9ua Yy (fNemRigs) @

(C) area wfer (amgwa) &

(D) gyl (feyed)

yRads (grawrR) fea foga w e
Yl 87

(A) T\

(B) urwuf¥a oy

() fasga—ga@ta wor

(D) @iva &1 PR

gaggEl @ o i B g s
U gEell 9 fwae gm fhag e m
or?

(A) ware fagga wra gwr

(B) fg—vaftss (eaw Ree) wam g/
(C) =%+ alv o yaim g™

(D) DS 9 517

oo (Tite UaN) &1 WTHRS ofid B
wr &

(A) e faem

(B) afaren fawumg

(C) garen famm

(D) HrgerTEr R

YerEs ag & i feas 4 g 87
(A) 30T WFE IR EggiiaRTel e
(B) &1 Eresifdae wE

(C) 3 woE AN TEifaae Wi
(D) 3 wigE afi @Eifa i

sftrar 1 goeqar (Red 9«

vt fras s g 82

(A) Piferd 3rer @ &0 & ST

(B) EHTAIET & T Wl @ SR

(C) <& & T & BRI

(D) arei SRR A SRy ()
H B DR
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Q94

Q95

Q97

The protein component of food diet is mainly
responsible for:

(A) energyonly

(B) energyand growth

(C) growthand repair

(D) growthonly

The Indian Institute of Chemical Technology
is situated in:

(A) Ahmedabad

(B) Prayagraj (Allahabad)

(C) Hyderabad

(D) Kolkata

Which of the following microorganisms
causes dysentery?

(A) Salmonella

(B) Shigella

(C) Leishmania

(D) Plasmodium

The study of all the factors that are
responsible for the appearance of a particular

disease is called;
(A) Actiology
(B) Epidemic
(C) Endemic

(D) Epidemiology

GESTLLOS5
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Q94 TR WIeH JER HT WEH WD A

Q95

Q96

Q97

w0 ¥ feus v omver) &2
(A) Fad FHull » forg

(B) Wil 3 i & farg
(€) gf& ¥R i & ferg
(D) @aw giE B forg

HRaa vafE denfe senr G
sWiege dife afea SeEr) @et
Rera 27

(A) FEwEETS

(B) AP (geimemans)

(C) EevEs

(D) PrerdRI

vaife (Feddh) Frfafaa 4 @ €9 9
[erala & BT BT 87

(A) \IHREAT

(B) Rrien

(C) e

(D) wrsIfEan

T Wl HIH BT AT T PEAT &
W U A9 2 @y & fo gaver
a1 87

(A) gfearErsh

(B) vhefHs

(C) =i

(D) vfrfigretof
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Q98  Why is immunisation against common cold

NOT very effective?

(A) Novaccine against common cold has
been developed.

(B) Common cold occurs due to climatic
conditions.

(C) A large number of strains of thinovirus
is present thereby making immunisation
ineffective,

(D) The causal organism for common cold
has not been identified till now.

The Nobel Prize for 2018 in the area of
Physics has been awarded for the work in
the area of:

(A) Laser physics

(B) Black hole

(C) Magnetic resonance

(D) Gravitational wave

Q100 Which ofthe following food items would

have highest per-gram calorific value?
(A) Ghee
(B) Maize
(C) Rice
(D) Meat

Q101 Ultrasound waves are NOT used for which

of the following purposes?

(A) To locate its prey by a bat

(B) Toknow the depth of sea bed by a
ship

(C) Todiagnose defect in internal organs
of human body

(D) Todetect aeroplane in any air space

LM-B

Q98

TR

Q99

E WE-gam @ favg e

Ffers ward) Fat Tl e &7

(A) s wdl-gam & feg o 0
it RAsfma 78 far 1 &)

(B) \mra Hel-gmm searyg gRfefR
& HROT B@T 2|

(C) 39 dmd § wg=aEvE @ A
ueR femE e § S st
& qdt 74 29 #)

(D) T TE-GHm & fow drene
Wi @ UEEE W 9@ T8 g8 8|

M @ &= 7 2018 B TS [WEER
frerferfias 4 9 5w & 4 fve v 4
@ foro ey o &2

(A) e Hifa & fag

(B) =& 81d & fag

(C) gaara age & forg

(D) TG TR B forg

Q100 F=fafaa %9 frw @ vep! 4 9=

ufel I DA 7 B &2
(A) ¥t 4
(B) #ap1 A
(C) @rad #
(D) \/E H

Q101 Fr=ifafa 4 % 5w oewm & foe W

K&

T (SregaTds ) BT wa ) far

ST &7

(A) TIES BT 309 ISR &7 gar
ST

(B) STei—did T WHR ) OF &I TEwE
ST BT

(C) =g TR & ayiafla 3t ¥ 2f &1
e &

(D) T & A IR FT Y ST
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Q102 Identify the INCORRECT statement about

water cycle from the options given below.

(A) Evaporation of water facilitates cloud
formation.

(B) Water vapour comes in atmosphere
through transpiration only.

(C) Melting of snow is a part of water cycle.

(D) Sunlight is also responsible for

evaporation of water.

Q103 Countof coliform bacteria provides an idea
of:
(A) E. coli infection in blood
(B) presence of E. coli in intestine
(C) microbial contamination in river water
(D) microbial contamination in packaged
food

0104 Solvethe following,

42 —2(25+16 + 4 x 3 -4 x 4)+5="
(A) -5

(B) 4

(€) -4

D) 5

Q105 If 1.5a =0.2b , then fimd the value of
(3a—-5b) 4
(3a+5b) 27
(A) 1
By -1
(©) 2
D) -2

LM-B
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Q102 g v v fAee 4 9 ot °b @

Harl H A HAF B TEUE H |

(A) el & grefieeer | argdi &1 o
B &)

(B) STl amy adl qreieaGl- & ArH
W B e A a2

(C) % &1 Mue=1 Ta 9% &1 UH A0
2l

(D) o @& anfievyl & fog b o
webrer W Soeerdl g 8

Q103 ®reitwid et @ wen FAefafas
# ¥ frad an W U A WeTE B
27
(A) Yo o § @loE & HEH
(B) a3 # § Flong o Sufteifa
(C) 7 & el H FEHoiial Tgu
(D) fEamEe Hior # gereid) weuor

Q104 fr=fafaa &1 &a & |

42 —2(25+16+4 x3 -4 x 4)+5="
(A) -5
(B) 4
(C) -4
(D) 5

Q105 af% | 5a=02b B
Ba-5b) 4 o wm wm wm?
Ga+5b) 27
(A) 1
By -1
(C) 2
(D) -2
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Q106 The product of the LCM and HCF of two
positive numbers is 72 and the difference
between these numbers is 6. The sum of the
numbers is:

(A) 6
(B) 12
(C) 18
D) 24

Q107 Solvethe following

236-3.05+433="7
(A) 364
(B) 334
(©) 344
(D) 333

Q108 IF 8" » 64° x 40° » 25" = 407,
then what will be the value of g?
(A) 0.5
(B) 0.7
(C) 0.9
(D) 1

Q109 By which of the following largest number
should 2270, 3739 and 6677 be divided to
obtain the same remainder in each case?
(A) 1459
(B) 1469
(C) 1479
(D) 1489

Q106 =1 9% HeERIt & wTHTH wHYEdS
(LCM) 3R wewm wwmads (HCF) &1
TS 72 8 3R 377wt 4 6 &
v & | weEmet & g Fm s
(A) 6
(B) 12
(C) 18
(D) 24

Q107 Fr=fefaa &1 ga o9

236-305+433="
(A) 364
(B) 334
(€) 344
(D) 333

Q108 afg 8" « 647 x 40 » 25" =40°8, & a
HT W TG B8
(A) 0.5
B) 0.7
(C) 09
(D) 1

Olmnﬁhi'ﬁufaﬁwgwﬁmmmﬁﬁ
feore w@mi 2270, 3739 3R 6677 ®
Frfafea dd v i a s v @
o v s =ifze?

(A) 1459
(B) 1469
(C) 1479
(D) 1489
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Q110 X and Y are two compounds formed by the Q110 X 3R Y2 diffre & o w4 ;3 3w

combination of silver and copper in the ratio
of4:3and 4 : 7 respectively. Equal quantities
of these two compounds are melted and
mixed to form a new metal Z. Now metal Z

contains silver and copper in the ratio of:

(A) 41:33 :
(B) 41:36 ﬁ
(C) 33:41 3
(D) 36:4]

Q111 If Raju earns 20% more than Vijay, by what Q111
percentage is Vijay's earning less than that
of Raju?
(A) 25%

50,
® %
40,
© 3%

D) =%
©) F%

4: 7 s # =idl iR @ @ M
T & | 371 <1 DS @ wHE A= B
foeemey va 7E Pg-ug Z B @
Wl & | o, fs-urg 2 4 =i AR 9
&1 FIT F1 B

(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

af w9, o @ 20% e s afsa
o &, o Rom gr afvia ama e
g1 Afofa amg &1 gern 4 feaa it
Gt

(A) 25%

B) —%
©) —%

D) —%

Q112 A mobile was sold by two mobile sellers at Q112 UF HiEAERd, a1 JEEd famaei gRT 45%

atotal gain of 45%. If the first seller sold itat
a gain of 25%, then how much gain
percentage did the second seller achieve?
(A) 20%

(B) 18%

(C) 16%

(D) 14%

LM-B 36

& oo @ U 491 T | AfR uee R
50 25% B G W daT B a1 R

famar 9 fsam it a1 e
(A) 20%
(B) 18%
(C) 16%
D) 14%
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Q113

Qli4

Q115

Q116

LM-B

A father and son working together can finish
a piece of work in 24 days. IF, for the last 6
days, the father alone works, then the work
is finished in 26 days. In how many days
can the son alone finish the work?

(A) 72

(B) 70

(C) 68

(D) 66

X, Y and Z completed a picce of work
costing ¥ 4,480. X worked for 4 days, Y
worked for 6 days and Z worked for 8 days.
If their daily wages are in the ratio 5: 6 : 7,
how much amount will be received by X?
(A) T800

(B) 1,200

(C) T 2,400

(D) T 3,000

A train leaves Hyderabad at 7 am and
reaches Vijayawada at 11 am. Another train
leaves Vijayawada 9 am and reaches
Hyderabad 12.30 pm. At what time would
the two trains cross each other?

(A) 9:50am

(B) 9:56am

(C) 10:02am

(D) 10:08am

A tank 9 m long, 4 m wide and (1/3) m deep
isdug in a field 24 m long and 14 m wide. If
earth dug out is evenly spread out over the
remaining field, the level of the field will rise
by:

(A) 4.5¢cm

(B) Sem

(C) 3.5em

(D) 4cm

[LLECLH]
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Q113 v= fian 3k 9= s 5w ord @1 24
f&=t # g wv waa &1 afy, aiftm 6 fam
e s s e @ o el 26 2
W I 8 S @ | 0= e e Rt
Lo G G

(A) 72

B) 70
(C) 68
(D) 66

X, Y3 Z 7 T4,480 A PTG el U
o guf fan) X5 4 s o s, v
627 3R 24 8 R= = fvan) af?
T S A 56 TH AT AR
X & fer am—afd ferfi?

A) T 800

(B) 71,200

(C) T 2,400

(D) T 3,000

Q115 s YAl A& 799 BSAE W U

vl & afk gaE 11 791 fawmars gEad
81 @ 3 W@ Regare | qaE 9
Tl FOTE ) & 3R e 12,30 @9
fevme ogud 81 I YWmiEE ww
g @ e o ar Hef?

(A) HaE 9:50

(B) ¥9® 9:56 W

(C) |¥% 10:02 W

(D) 4% 10:08 T

QU6 2d4meid 3R [ dm=S v @a A 9m

a1, 4 m 2 3R (1/3) m TEW vE &
e T &) aft @) 1z BE @ e
w9 9 W @a § horEn Ww, O w@a &)
Hard ferh g sref?

(A) 4.5¢cm

(B) 5¢m

(C) 3.5em

(D) 4cm
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Q117

Q118

Q119

Atap can fill atank in 8 h. Afier half of the
tank is filled, four more similar taps are

opened. What is the total time taken to fill
the tank completely?

(A) 4h46min

(B) 4h48min

{C) 4h38min

(D} 4h30min

01-01-2012 was a Sunday. What day of the
week was on 01-01-20137

(A) Tuesday

(B) Wednesday

(C) Thursday

(D) Friday

Read the following statements and select the

correct option.

1. In60min, the minute hand gains
55 min on the hour hand.

-3

A clock is started at noon. The angle
traced by the hour hand in
5h 10 min=150°.

(A) Only statement 1 is true

(B) Only statement 2 is true

(C) Both the statements are false.
(D) Both the statements are true.

Q120 Inatriangle ABC, if £ A=90° then:

(A) SinA=SinB
(B) SinA=—SinB
(C) SinA=CosB
(D) SinA=—CosB

LM-B
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Q117 TS et 8 € ¥ U Tl ] W HHal & |

Il 2 W W & a1e, 99 uan @
R AN 99F 9 @i o & | 29 &
qui: W94 3 &d o ww @n?
(A) 4 62 46 fFie

(B) 4 ue 48 fise

(C) 4 € 38 fasre

(D) 4 w2 30 fivre

Q118 2= 01-01-2012 ) Hdaw oy | B=s

01-01-2013 @ wamw & & W f&=
or?

(A) HTEaR

(B) gHar

(C) TParR

(D) ¥mar

Q119 F=fefaa sl @1 ug st afl Raw

T |

1. 60 fmre # fivre o g w2 o o
31 55 firre amt & &

2. TS UE DR B WHY o7 B
i 81 562 10 e 4 92 &
BT T/ 1 ® 150° 8

(A) T U | TA B
(B) Had TUH 26 &)
(C) <1 e ey &
(D) =Wt Fus wog §)

Q120 B[ ABC# aft 2 A=90° &, o wél

famed g+ |

(A) SinA=SinB
(B) SinA=—SinB
(C) SinA=CosB
(D) SinA=—CosB
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Q121 If ¥ = 3x+ 1 =0, then the value of QI21 TR 2 - 3x+1=08 W L+x+(1/x) +

¥+ x+ (1x) + (1) will be: (1/x%) & =15 a1 grm?
(A) 7 (A) 7
(B) 8 (B) 8
(C) 9 () 9
(D) 10 D) 10

Q122 Angles A, B and C of a triangle are in Q122 fsvit P & &9 @1 A, Bair C

arithmetic progression. AM is perpendicular warer A 7§ 3R AM, BC W evaa
to BC. Find the value of BM/AB. &1 BM/AB %7 519 1 Enm?

(A) 1/4 (A) 1/4

(B) 173 (B) 173

(C) 12 (€) 112

(D) 34 (D) 34

Q123 10 is the mean of a set of 6 observations Q123 6 Uarvil & w=aa &7 Ay 10 & 3 4

and 5 is the mean of a set of 4 observations, Reoll @ wema @ WA S &) fafde

I'he mean of the combined set is: LR 1 B A

(A) 7.5 (A) 7.5 |

(B) 8 3) R

(C) B.5 (C) B.5

m 9 (D) 9

2 2

Q124 If20% of A=0350fB= ‘5‘ of C, then Q124 afd AT 20%=B & 035=C ; g

A:B:Cisequalto: o A:B:C frws wages g’

(A) 14:8:7 (A) 14:8:7

(B) 12:8:7 9 @) 12:8:7

(C) 11:6:5 2 (C) 11:6:5

(D) 13:8:5 g (D) 13:8:5

Q125 15 litres of a mixture of milk and water Q125 15 &2t g0 o & @ fAspor 3 5% ore

contains 5% water. How much pure milk #1 2% o arer fsor ara @ @ fag
should be mixed with it to get a mixture ge o g& gy Pamn s eifgg?
containing 2% water? (A) 20.5 dfiex

(A) 20.5 litres (B) 21 &ex

(B) 21 litres (C) 21.5drex

(C) 21.5litres (D) 22.5 irex

(D) 22.5 litres

LM
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Q126

Q127

Q128

Q129

LM-B

SECTION-4| GENERAL HINDI | 25 QUESTIONS

I8 e 3R Wy A T - A @

3 Fant |

(A) w9 e W e Fwal )

(B) @ae H9Q fawman

(C) TR TG | |

(D) a9 st § agdy B A
AL

e @D 1ga & wem
FE W &7

(A) IR g

(B) WG

(C) 71 Ffa

(D) TSR UE

A B AR @ §7
(A) AfrefrrRyr @

(B) e FEard

(C) e Rig R

(D) WO¥iHR yaw

R & AR (S B AW A
2

(A) SUg-Td ATH

(B) wrTEIeEE WY

(C) =¥dR Wl

(D) #Hies

frafafeaa o @1 sreagws difo
I A Ry v wwt (wer wean 130 -
132) & Sww &

wRda <9+ faam & & e &1 w
v 3R @5 8, v d WS 'R
e &, 3w g § 99 ds @) U o

29501 ¥Us

40

Q130

a1 g RvwRar & | g9 ver 39
i & s & agufea &= ) @fiw
TN & N B TP W 5w aHaaT
Pl 8, 98 30 @ O TE B @)
wighar 8| @@ e anfaw ue @ey
a1 &7 30 ed A aunf @ mit a8 2
Rt o1 S e e T 8, afew
I B AW & e ® ) gw Suafa §
arn @ 87 amnd wd & o 3w
2w | affée anen =ff R, aFl 99
& zamt woaw f 98 R g g9 &
2 ot =9 il @ R, R aroeh faen
¥ 99 99 e 9 qfe Remm 8 o
o g Ad B 21| T UK UE
i@ g v dfgw s e
Tl 8, afew o ufdave sgmes W
gorl 8, Fifd W & @ 1 @ gy
wa! e & A ofias # 59 ueR
raRa wen g & mif ow aurd @
tHien B v O a8 @ e 2
anad & g8 oftgs @1 os JrE a9 aef
& 3R Wil qfel & gEE e
Fel gh 2, 3w Teifae & A, afes
i sl @, aife wh sl @
e sk fAuafa v & 2

Iuvian wearn @1 wifaa dide g9t
(A) wira= &1 g s

(B) w= & Frafdy

(C) wwelra =3 afv offam

(D) s A qftm
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Q131

IR MEAT HT WET B |
(A) =¥ Sfias &1 Ua W= wé wef @
alm v srEifst &1 saaT g
Fel g 8, aiv sl @ A,
afes i g &1, wwifs i
et @ aifte afw Prafy ve &
#1

weha gvi= framr & & oftes
s I o @ g I @
o gnrT <ifde &, 3w s 9w
A8y @ UT" S oAl BHIN
fAvmfer &)

T it & sy @ Sgmfen
e @ Bt wvar § o ol
ad I8 g weea Bed & aw
9 @ O% JUEY BF @ witean
g

R 999 offes & @e @ @
TS O 9t At wfsar i aan
2 @| B o @ 99 Pad
T e €, afcs SweT A ®

(B)

(€)

(D)

T 8, g9 Svafdr ¥ v ann @
s, fore 29 @ gY W waa
2 390 yor Inife @ Wy
yqmia g gar & aifs a8
quref ¥ tEHR B |
AR S SERY H T
it wpat @ Fen g #)

el i e

41

Q132

Q133

Q134

IYNET AV D IR W TR &
aurf @ wikr ¥ we T a 87
(A) arsm

(B) wiftea

(C) frafy

(D) 3rgamEA

WA B W @ 56 yer @
FarE 87

(A) Freagams

(B) sFreagams

(C) fomares

(D) ¥ga wd-m

TEAL AT wieR
et v v & fore e Ry et 4
W SugE e g |

(A) e

(B) ¥

(C) wPrargs

(D) wrfimr=

SERIES-B-H
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Q135

Q136

Q137

LM-B

va @ Wy 3 Preafarm ¥ ¥ e
‘FfvaTeT wEd 87

(A) foar-g=

®) gy

©) B =

(D) T ErETaie

Preferfan & Rowrar waNT SfreR
Wl el § v W P
ST onf Y e B wRT A g &2
A) T

®) R

(C) feRpEAT
(D) sEiE ey

IR fws s s 87
(A) fwf &1
(B) Hafdg @
(C) waw avf &1

(D) ¥ &1

42

Q138

5T628516

Q139

Q140

Q141

o &= & SeEro # g @ q A
frvoch 8, 9 @ed €

(A) s W

(B) g e

(C) s w@v

(D) dfea wr

TER' $1 WA a7 8
(A) 99 + T®
(B) 9+ W™

C) T + W

©) T+ W

e R A @ S 87
(A) gos

(B) FHaRY

(C) Taga

D) g

W1 AT T ST HAT — I F ¥@ifea
uE A | /AW 87

(A) JoHaras

®) FrommEs

(©) FreemarEs

(D) afremmEs
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Q142 ‘w¥wr yda av B — @y F B Q145 ¥ e aren W )

o we fadmor &2 (A) giTan
(A) srefem B) e
(B) ey (C) wrfvra
©) g (D) yvrar
(D) &

Qld46 M ¥ ux ford - fbw a=m &

Q43 FH welwren A Weow gy &7
R i e @ oy sfm os 91 (A) garea
(A) wf B) T
® wf C(© W
(©) wud (D) af—Tarey
(D) wd

Q147 ‘wg famh an on¥ |’ — fFe woR

Q4 RO wRa s w9 &1 a9 87
yog W - Raw wm w3 g (A) FraRi®
TG W g | (B) wEniF
(A) I=fY (€) Tons
B) wify (D) Hdearas
(©) &

(D) fawra
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Q148

Q149

Q150

LM-B

frfafea 3§ 9 9 & aw gg &7

(A) ¥5® U@ Tga & Swarh = 8

(B) =g 3R ¥ & ure g Gf
L3

(C) &% Yaa & sdarfal @ fend
g1

D) sfpor & s M &)

WIER, e W
A - g d d9 A Rea wF
# @ W favm fres ang?

(A) FFegfaRm

(B) r&fRm

(©) iR

(D) A fre

56188516

Tt &1 By gFr—gEmE & aef Il |
(A) 3T gTea B

(B) ¥ga STea—ared) B

(C) g &1 dawhv

(D) f&a & 7 e

i
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ROUGH WORK /¥% &1 & fae
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Read the following Instructions carefully :

Frafefaa FdaY &) ars & o

1. Out of the four altematives for cach question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen an the OMR
Answer Sheet. The answer once marked is not liable
to be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet
Handle the Test Booklet and Answer Sheet with care,
a3 under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

The candidaies will write the correct Test Booklel
Series as given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit

Card to the Invigilator

No candidate, without special permission of the Center

Superintendent or Invigilawor, should leave his / her

seal.

. The candidates should not leave the Examination Hall

without handing over their Answer Sheel (1o the

Invigilator on duty. Cases where a candidate has not

signed on the Attendance Sheet will be deemed not 1o

have handed over the Answer Sheet and dealt with as

an unfair means case,

Use of Pencil/Electronic/Manual Calculator is

prohibited.

. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission,

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator. Invigilator will hand over
the Candidate’s copy 1o candidate, then only
candidate is allowed to leave the cxamination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet.

11, Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the

Invigilator after the exam,

TR

1L WS 9 & fow Ry W aw Rewt 4 A
"ol O @ fon ot A IR o =@ W
#acl U M & § g ovE e T dige
U | M| TP qN IR sfba U W @
a1 I qger T8 o wear 8

el gRfas o 9 o o=@ @ G
A WY Ud 99 uY o o P | wemd
gdemeft 3 sl 9TR vEe N Pt
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